21000 T HOR H B SR 2B EL

7= miiEA

M
48 EN AW-6063,

BR:

XBEZBNETERATHE. NEEENNENEHEURLENERT
Eﬁﬂo

MEMN AR FEEE (F) RABSHRARITH,
BEEMGERFATHENER.

BARTEBIBROT 2 RERT,

M1 = ﬁﬁm%o
Tl = AZFEEA E1/E2/IM1 I E,
TA = NS EE A EE E/E1/MA,

=N

-LEEENNRNBHIFRELZERE,

- TTE RS HF,

- AlE x-y-z FEMREMFEFA S

MA :

- AENESET, NERGL RIS, SHEMEL (AR TLA
EARHE) -

- IRETIRL, FEFLMMENL,

- RERE,

© norelem www.norelem.com



21000 T HOR H B SR 2B EL

21000-020 ...
£ fasos E
- = i Bl o
-4 / C 0o oo
iE o .
i t\? el e
] 3 =0 ! | 2 — T TG
S |
R p i m
L 1
Mx
P
My
0 L W e )
B
1 Vl_? '7/_' ¥"7_7"!7'| ‘s I E | L
== = = = = e @ | x
N 1= 7 T
x 3 7 1 L AN el P I -
* D/(4x) ‘ . E ! ; ]
B7 =0.02 =
ol c L11—01 -
- L2 -
L3 -
E o
E1
VA
]
x e w
j ~4
21000-020030 13 20-0,3 19,6 8,1 M2 12| 6 - 8 8 8 8,3 10 6,3 5
21000-020035 13 20-0,3 19,6 8,1 M2 12| 6 - 8 8 8 8,3 10 6,3 10
21000-020045 13 20-0,3 19,6 8,1 M2 12| 6 - 8 8 8 8,3 10 6,3 20
21000-030040 15 30-0,3 29,6 13 M3 23| 8 75 (10| 8 9,8 9,8 10 6,3 5
21000-030045 15 30-0,3 29,6 13 M3 231 8 75 |10| 8 9,8 9,8 10 6,3 10
21000-030055 15 30-0,3 29,6 13 M3 231 8 75 |10| 8 9,8 9,8 10 6,3 20
21000-050067 23 50-0,3 49,4 25 M4 38|16 11 10| 8 14,5 15,6 | 22 14,3 12
21000-050080 23 50-0,3 49,4 25 M4 38|16 11 | 10| 8 14,5 156 | 22| 14,3 25
21000-050105 23 50-0,3 49,4 25 M4 38|16 11 10| 8 14,5 15,6 | 22 14,3 50
21000-080110 34 80-0,5 79 40 M5 6034 13 |12| 8 23 225 | 26| 14,3 25
21000-080135 34 80-0,5 79 40 M5 6034 13 | 12| 8 23 225 | 26| 14,3 50
21000-080160 34 80-0,5 79 40 M5 60|34 13 |12 ]| 8 23 22,5 | 26 14,3 75
21000-080185 34 80-0,5 79 40 M5 6034 13 | 12| 8 23 225 | 26| 14,3 100
21000-120150 45 120 -0,5 119 60 M5 90140 25 (12| 8 30 29 26 14,3 25
21000-120175 45 120 -0,5 119 60 M5 90|40 25 |12 8 30 29 26 14,3 50

© norelem www.norelem.com




21000 K A T B

21000-120200 45 120-0,5 119 60 M5 90|40 25 |12 8 30 29 26 | 14,3 75

21000-120225 45 120-0,5 119 60 M5 90 |40 25 | 12| 8 30 29 26| 14,3 100
21000-020030 30 | 20 38,2 48,2 M2x3 M2x3 M3 3| 52 M5x0,5 180 0,45 2 0,3
21000-020035 35 | 20 43,2 53,2 M2x3 M2x3 M3 3| 52 M5x0,5 180 0,45 2 0,3
21000-020045 45 | 20 53,2 63,2 M2x3 M2x3 M3 3| 52 M5x0,5 180 0,45 2 0,3
21000-030040 40 | 30 48,2 58,2 M3x4,5 M3x4,5 M4 3| 58 M5x0,5 350 1.1 4 1
21000-030045 45 | 30 53,2 63,2 M3x4,5 M3x4,5 M4 3| 58 M5x0,5 350 1.1 4 1
21000-030055 55 | 30 63,2 73,2 M3x4,5 M3x4,5 M4 3| 58 M5x0,5 350 1.1 4 1
21000-050067 67 | 50 78,2 98,2 M4x6 M4x8 M4 5| 11,5 M5x0,5 540 2,5 8 2,3
21000-050080 80 | 50 91,2 111,2 M4x6 M4x8 M4 5| 115 M5x0,5 540 2,5 8 2,3
21000-050105 105 | 50 116,2 136,2 M4x6 M4x8 M4 5| 115 M5x0,5 540 2,5 8 2,3
21000-080110 110 | 80 128,3 148,3 M5x7,5 M5x10 M6 8 14 M10x1 750 8 22 7
21000-080135 135 | 80 153,3 173,3 M5x7,5 M5x10 M6 8 14 M10x1 750 8 22 7
21000-080160 160 | 80 178,3 198,3 M5x7,5 M5x10 M6 8 14 M10x1 750 8 22 7
21000-080185 185 | 80 | 203,3 223,3 M5x7,5 M5x10 M6 8 14 M10x1 750 8 22 7
21000-120150 150 | 120 | 172,3 192,3 M5x10 M5x10 M6 12| 18,5 M10x1 1500 30 45 | 18
21000-120175 175 | 120 | 197,3 217,3 M5x10 M5x10 M6 12| 18,5 M10x1 1500 30 45 | 18
21000-120200 200 | 120 | 222,3 242,3 M5x10 M5x10 M6 12| 18,5 M10x1 1500 30 45 | 18
21000-120225 225 | 120 | 2473 267,3 M5x10 M5x10 M6 12| 18,5 M10x1 1500 30 45 | 18

© norelem www.norelem.com



